

NET30		Freight Terms: FOB Destination	Ship Via: US MAIL MS AND COND	PCC: X ITIONS M	PO Date: 09/12/2024 AY BE LISTED A	PO End Date: 08/31/2025 T THE END OF THE	PO Method: DG PURCHASE O	Dispatch: Dispatch Via Pr RDER.	Rev Dt: rint
Vendor:	DEP PO E KAN	INGER DEPT 8794 T. 850212127 30X 419267 SAS CITY MO 641 ed States				Ship To:	40 Au	200 - TxDMV Ware 000 Jackson Avenue ustin TX 78731 nited States	
						Ship To At	tention: Ro	oya Diamond I Ruiz	
Vendor ID:	1361	150280 1 019				Bill To:	Au	000 Jackson Avenue Jstin TX 78731	9
Purchaser: Phone:		n K Adams 465-4181					Ur	nited States	
Fax:		465-5641				Bill To Fax	:		
Email:	jasor	n.adams@txdmv.ge)V			Bill To Ema	ail: Di	MV_FIN-INVOICES	@TxDMV.gov
Change Or Change or	ders: lers w		f unforeseen co			ot limited to, increasi			
Payment: Payment w itemized inv invoice. All invoices red duplicate in company na in a timely r correct invo Note: Warra	ill be n voice s electro ceived voices ame (a manne vice, w ants w	showing the purcha onic invoices shall at the email addre s, please do not se as it appears on the	e with the Texas se order numbe be sent to DMV ss will be filed for a other copies invoice) and the ncur any penalty a vendor withou	Prompt P pr, payee II _FIN-INVC or future re of this invo e purchas y for late p t a current	ayment Act, TGC D., remit to addres ICES@txdmv.go ference and you pice via regular m e order number ir ayment if paymer	, Subtitle F, Chapter ss, and phone number v (note: There is an u will receive a receipt ail, fax or other mean the subject line to as t is made in 30 days	er on invoice. Ve inderscore "_" be confirmation emails s. On emails for ssist in identifyin	ndors may submit a etween DMV and F ail. To avoid the cor electronic invoices g and processing ye	in electronic IN). All ifusion of include the our invoices
decrease th	are est ne qua		chase order at t	he same c	original terms and	or maximum quantit conditions. The venc			

Delivery:

Delivery of goods shall be in accordance with the delivery requirements of this purchase order, any underlying or associated contract for the goods being purchased and any other requirements set for by TxDMV or state law. Upon delivery, the bill of lading shall include at a minimum the following information: TxDMV Division and Contact Name, TxDMV Purchase Order number, Delivery Address, Vendor contact information and return address. If the vendor has an updated delivery schedule or more accurate delivery date, the vendor shall notify the TxDMV contact immediately. Enter any other special delivery requirements.

Additionally, this Purchase Order is governed by the current TxDMV Contract Affirmations and TxDMV Contract Terms and Conditions, unless modified by Supplemental Conditions approved and provided by TxDMV. These documents can be found at: http://www.txdmv.gov/contractors-

Authori	zed Sig	natu	re	
Lann,	Adam15,	MS,	CTCM,	(TCD



Texas Department of Motor Vehicles Texas SmartBuy PO # 25000857 Business Unit # 60800 Purchase Order # 0000015028

	the avoidance of doubt, unleatinguity, or inconsistency betwee if any.							
TxDMV Cont Roya Ruiz roya.ruiz@tx 512-465-406	5							
Contractor: V Contact Nam Email: scs.sc Phone: (800)	ID: 13611502801 V.W. Grainger, Inc. dba Grain ne: Shelby Savony buth@grainger.com) 472-4643 50 Research Blvd. Austin TX ⁻							
Line-Sch: 1-1	Line Description: 6B937 6B937 Pleated Air Filter 20x20x2 MERV 8	PCA: 31102	Class/Item: 031/45	Quantity: 60.0000	UOM: EA	Unit Price: \$5.73000	Extended Amt \$343.80	t: Due Date: 09/12/2024
					<u>ReqID:</u> 000001		Schedule Total	\$343.80
						Item	Total for Line # 1	\$343.80
Line-Sch: 2-1	Line Description: 6B938 6B938 Pleated Air Filter 20x20x1 MERV 8	PCA: 31102	Class/Item: 031/45	Quantity: 24.0000	UOM: EA	Unit Price: \$4.97000	Extended Am \$119.28	:: Due Date: 09/12/2024
					<u>ReqID:</u> 000001		Schedule Total	\$119.28
						ltem	Total for Line # 2	\$119.28
Line-Sch: 3-1	Line Description: 6B956 6B956 Pleated Air Filter	PCA: 31102	Class/Item: 031/45	Quantity: 48.0000	UOM: EA	Unit Price: \$5.05000	Extended Amt \$242.40	: Due Date: 09/12/2024
	16x20x2 MERV 8				<u>ReqID:</u> 000001	5730	Schedule Total	\$242.40
						ltem	Total for Line # 3	\$242.40

Authorized S	bignature	
Lann, Adams,	15, MS, CTCM, CTCD	



Texas Department of Motor Vehicles Texas SmartBuy PO # 25000857 Business Unit # 60800 Purchase Order # 0000015028

Line-Sch: 4-1	Line Description: 6B950 Pleated Air Filter 16x25x2 MERV 8	PCA: 31102	Class/Item: 031/45	Quantity: 36.0000	UOM: EA	Unit Price: \$4.85000	Extended Amt: \$174.60	Due Date: 09/12/2024
					<u>ReqID:</u> 000001		Schedule Total	\$174.60
						Item 7	Fotal for Line # 4	\$174.60
Line-Sch: 5-1	Line Description: 6B930 6B930 Pleated Air Filter 20x25x2 MERV 8	PCA: 31102	Class/Item: 031/45	Quantity: 24.0000	UOM: EA	Unit Price: \$6.33000	Extended Amt: \$151.92	Due Date: 09/12/2024
					<u>ReqID:</u> 000001		Schedule Total	\$151.92
						Item 1	Fotal for Line # 5	\$151.92
L ine-Sch: 6-1	Line Description: 6B975 6B975 Pleated Air Filter 12x24x2 MERV 8	PCA: 31102	Class/Item: 031/45	Quantity: 24.0000	UOM: EA	Unit Price: \$4.97000	Extended Amt: \$119.28	Due Date: 09/12/2024
					<u>ReqID:</u> 000001		Schedule Total	\$119.28
						Item 1	Fotal for Line # 6	\$119.28
L ine-Sch: 7-1	Line Description: 6B933 6B933 Pleated Air Filter 20x24x2 MERV 8	PCA: 31102	Class/Item: 031/45	Quantity: 48.0000	UOM: EA	Unit Price: \$6.21000	Extended Amt: \$298.08	Due Date: 09/12/2024
	2022422 WEINV 0				<u>ReqID:</u> 000001		Schedule Total	\$298.08
						Item 7	Fotal for Line # 7	\$298.08

<u>09/12/2024</u>



Texas Department of Motor Vehicles Texas SmartBuy PO # 25000857 Business Unit # 60800 Purchase Order # 0000015028

Line-Sch: 8-1	Line Description: 5E998 5E998 Pleated Air Filter	PCA: 31102	Class/Item: 031/45	Quantity: 12.0000	UOM: EA	Unit Price: \$6.07000	Extended Amt: \$72.84	Due Date: 09/12/2024
	10x25x1 MERV 7						Schedule Total	\$72.84
					<u>ReqID:</u> 000001			¥·=·=·
						Item ⁻	Total for Line # 8	\$72.84
Line-Sch: 9-1	Line Description: 6B923	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
9-1	6B923 6B923 Pleated Air Filter 24x24x4 MERV 8	31102	031/45	12.0000	EA	\$12.71000	\$152.52	09/12/2024
							Schedule Total	\$152.52
					<u>ReqID:</u> 000001			
						Item 7	Total for Line # 9	\$152.52
						T	Total PO Amount	\$1,674.72
	ts, Shipping papers, invoices prized by Purchaser prior to S		ondence must b	e identified wi	ith our Purcha	ase Order Numbr	er. Over shipments will	I not be accepted

<u>09/12/2024</u>